GTL005, PTL0O05 (1/2t)
GTLO010, PTLO10  (1t)
GTL020, PTL020  (21)
GTL030, PTL030  (3t)
GTL050, PTL050  (5t)

MAN-AMH-THO8 -22- © 2014 ALL MATERIAL HANDLING



r G & PTL005 G&PTLO10 | G&PTL020 | G &PTL030 | G & PTL050
4| (1/2t) (1t) (2t) (3t) (5t)
1 | P-GTL005-3-8 | P-GTL010-3-8 | P-GTL020-3-8 | P-GTL030-3-8 P-GTL050-3-8
2 | P-GTL005-3-6 | P-GTL010-3-6 | P-GTL020-3-6 | P-GTL030-3-6 P-GTL050-3-6
2 | P-GTL005-3-7 | P-GTL010-3-7 | P-GTL020-3-7 | P-GTL030-3-7 P-GTL050-3-7
3 | P-GTL0O05-2-1 | P-GTL010-2-1 | P-GTL020-2-1 | P-GTL030-2-1 P-GTL050-2-1
4 C5X24Z
6 | P-GTL005-3-5 [ P-GTL010-3-5 | P-GTL020-3-5 | P-GTL030-3-5 P-GTL050-3-5
7 | P-GTL005-3-3 [ P-GTL010-3-3 | P-GTL020-3-3 | P-GTL030-3-3 P-GTL050-3-3
P-GTL005-3-2 | P-GTL010-3-2 | P-GTL020-3-2 | P-GTL030-3-2 P-GTL050-3-2
9 | P-GTL005-2-1.5 | P-GTL010-2-1.5 | P-GTL020-2-1.5 P-GTL030-2-1.5
10 | P-GTL005-2-1.4 | P-GTL010-2-1.4 | P-GTL020-2-1.4 P-GTL030-2-1.4

11

P-GTL005-2-1.3

P-GTL010-2-1.3

P-GTL020-2-1.3

P-GTL030-2-1.3

12 | P-GTL005-2-1.2 | P-GTL010-2-1.2 | P-GTL020-2-1.2 P-GTL030-2-1.2

13 [ P-GTL005-1-1.1 | P-GTL010-1-1.1 | P-GTL020-1-1.1 | P-GTL030-1-1.1 P-GTL050-1-1.1
14 | P-GTL005-2-1.1 | P-GTL010-2-1.1 [ P-GTL020-2-1.1 | P-GTL030-2-1.1 P-GTL050-2-1.1
15| P-GTL005-15 P-GTL010-15 P-GTL020-15 P-GTL030-15 P-GTL050-15

16 | P-GTL005-16 P-GTL010-16 P-GTL020-16 P-GTL030-16 P-GTL050-16

17 | P-GTL005-1-3 P-GTL010-1-3 P-GTL020-1-3 P-GTL030-1-3 P-M12 WASH
18 P-M2.5X25 COTTER

19 [ P-GTL005-1-5 P-GTL010-1-5 P-GTL020-1-5 P-GTL030-1-5 | P-M12 NUT CASTLE-10
20 | P-GTLO05-1-4 P-GTL010-1-4 P-GTL020-1-4 P-GTL030-1-4 P-GTL050-1-4
21| P-GTL005-1-1 P-GTL010-1-1 P-GTL020-1-1 P-GTL030-1-1 P-GTL050-1-1
22 | P-GTL005-3-10 [ P-GTLO10-3-10 [ P-GTL020-3-10 | P-GTL030-3-10 P-GTL050-3-10
23 P-GTL005-3-10

24 | P-GTL005-3-1 P-GTL010-3-1 P-GTL020-3-1 P-GTL030-3-1 P-GTL050-3-1
25| P-GTL005-3-4 P-GTLO10-3-4 P-GTL020-3-4 P-GTL030-3-4 P-GTL050-3-4
2 //////////////////////////////////////////////////////////////// P-M10 NUT LOCK

4

z, | P-MOWASHSPRING
28 ////////////////////////////////V/////////////////////////////// P-M10 WASH

», - |  prcTio5029

», | pcroson

31 ////////////////// %///////////////////////////////////////////// | PGTLOSO3

zi P-GTL005-3-9 | P-GTL010-3-9 | GTLPOS(:::(-)SO T GTL030-3-9 | P-M6x60 COTTER
36 | P-NPL-TLO05 | P-NPL-TL;)1-O | P-NPL-TLO20 P-NPL-TLO30-| F-’-I:lTL-TLOSO

MAN-AMH-THO8

-23-

© 2014 ALL MATERIAL HANDLING




~
e
(o]
S~
=i
~
n
(=]
(=]
]
[
o
N
o
o
—
==
(G

°Q
o N
e
el
==
o A
°Q
o o
©Q
-l ol
e
00

(1t)
(2t)
€]

(=
(s}
o
wd
[
o
=
m
(=]
|
[
()

(5t)

(=
n
(=}
wd
-
o
o
n
o
wd
[
(L)

%

oL

A0 S A@@

© 2005 ALL MATERIAL HANDLING

220-

MAN-AMH-THO1



GTLO00S GTLO10 GTL020 GTLO030 GTLO050
PTL005 PTL010 ~ PTLO20 | PTLO30 PTLO050
) (a2 (3 ([ (5Y)
GTLO05-1-1 GTLO10-1-1 GTL020-1-1 GTLO030-1-1 GTLO050-1-1
1-1.1 | GTLO05-1-1.1 | GTLO10-1-1.1 | GTL020-1-1.1 | GTL030-1-1.1 | GTLO050-1-1.1
1-2 GTLO10-1-2 GTLO030-1-2
1-3 GTLO05-1-3 GTLO10-1-3 GTL020-1-3 GTL030-1-3 GTLO050-1-3
14 GTLO05-14 GTLO10-1-4 GTL020-1-4 GTLO030-14 GTLO50-1-4
1-5 GTLO05-1-5 GTLO10-1-5 GTL020-1-56 GTL030-1-5 GTLO50-1-5
1-6 GTL005-1-6 GTL010-1-6 GTL020-1-6 GTL030-1-6 GTL050-1-6
2-1 GTL005-2-1 GTLO10-2-1 GTL020-2-1 GTL030-2-1 GTLO050-2-1
2-1.1 | GTLO05-2-1.1 | GTLO10-2-1.1 | GTL020-2-1.1 | GTL030-2-1.1 | GTL050-2-1.1
2-1.2 | GTLO05-2-1.2 | GTL010-2-1.2 | GTL020-2-1.2 GTLO030-2-1.2
2-1.3 | GTL005-2-1.3 | GTL010-2-1.3 | GTL020-2-1.3 GTLO030-2-1.3
2-1.4 | GTL005-2-1.4 | GTL010-2-1.4 | GTL020-2-1.4 GTLO030-2-1.4
2-1.5 | GTL005-2-1.5 | GTL010-2-1.5 | GTL020-2-1.5 GTLO030-2-1.5
2-2 NPL-TLO05 NPL-TLO10 NPL-TLO20 NPL-TLO30 | NTL-TL050
2-3 GTL010-2-3
3-1 GTLO05-3-1 GTLO10-3-1 GTL020-3-1 GTLO30-3-1 GTLO50-3-1
3-2 GTLO05-3-2 GTLO10-3-2 GTL020-3-2 GTLO030-3-2 GTLO50-3-2
3-3 GTLO05-3-3 GTLO10-3-3 GTL020-3-3 GTLO30-3-3 GTLO050-3-3
34 GTLO05-34 GTLO010-34 GTL020-3-4 GTL030-34 GTLO050-3-4
3-56 GTLO05-3-5 GTLO10-3-5 GTL020-3-5 GTL030-3-5 GTLO50-3-5
3-6 GTLO05-3-6 GTLO010-3-6 GTL020-3-6 GTLO030-3-6 GTLO50-3-6
3-7 GTLO05-3-7 GTLO010-3-7 GTL020-3-7 GTL030-3-7 GTLO50-3-7
3-8 GTLO05-3-8 GTLO010-3-8 GTL020-3-8 GTL030-3-8 GTLO050-3-8
3-9 GTLO05-3-9 GTLO010-3-9 GTL020-3-9 GTL030-3-9 GTLO050-3-9
3-10 GTL005-3-10 | GTLO10-3-10 | GTL020-3-10 | GTLO30-3-10 | GTL050-3-10
4 C5X272
5 WARN-LP
7.5t PTA100, GTA100
O O 10t PTA100, GTA100
15t GTA200
S 20t GTA200
o RN
O MO
/ ® N \\\>~7\
) b _
/ ) a8\ 7.5t TLA100-HP
/ —Ty s
I, === 0 10t TLA100-HP
\(D @ \ g ° L/ //)
O i, 2y 15t TLA150-HP

MAN-AMH-THO1

20t TLA200-HP

(7.5t) PTLA075 GTLA075
(10t) PTLA100, GTLA100

(15t) GTLA150
(20t) GTLA200

-21-

© 2005 ALL MATERIAL HANDLING



